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Factoring Polynomials Study Guide (HONORS)

Factor each polynomial completely. You must show ALL work to earn ALL credit.
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Factor each polynomial completely.
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13. Given the area, find the dimensions of
_each rectangle.

Area = 3x* +22x — 16

14. The length of a rectangular courtyard 1s the
expressmn 3x — 2.If the area ig given by,
3x? + 4x — 4, find the width of the room.
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17. Select the two factors of 4x3 — 17x% — 15

Q0= -0

=1 100 -

~d 30

0 ]

o0 (- goxaxd-

X+ 3

15)

s yd
UXS(X=5)+305)
(Fx3+3)(x-5)

3




18. Factor the expressi completely ; 19. Slm];‘)hfy the e)xpressmn bel)ow then factor.
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20. Aline y = mx + b, passes through the pomt (6,1) and is(parallel Yo 2x — y = 6 What is the
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21. Principal Legrand has 21 coins totaling $3.45. If he only has dimes, d, and quarters, g, write
and solve a system of equatmns to determine the number of coins Principal Legrand has.
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22, Sally scored a 73, 87, 81, and 97 on her first four tests. If her goal is to have an 86 test
average, what must she score on her fifth test?
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{ 23. What is the midpoint of the shortest side of the trlangle with
vertices (0,0), (—4,4), and (2,8)?
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24. The local park needs to replace an existing fence that is 6 feet high. The function f(x) =
200x + 7000 models the cost for Fence Company A, where x represents the height of the
fence. The table below shows the cost of building a fence with Fence Company B.
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Which company is a better deal for the local park? G Om D QT \} \B

25. Water is bemg pumped into a 12-foot cylindrical tank at a constant rate.

e The depth of the water is increasing linearly. (é) LI- 8) (LJ‘ 5 7 2 )

‘® At 2:00pm, the water depth was 4.3 feet.

e _ At 4:30pm, the water depth was 7.8 feet. m 1o % '+ 3 8 5 '—]— ~F
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What will the depth of the water be at 6:00 pm?
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